2020 Street Construction Project A (#6841462)

Owner: Wausau WI, City of Solicitor: Wausau WI, City of 03/24/2020 01:30 PM CDT

				Haas Sons, Inc.		Jake's Excavati	ng & Landscaping	Merrill Gravel & Construction		A-1 Excavating Inc.		James Pet	erson Sons
Item Code	Item Description	UofM	Qty	Unit Price	Extension	Unit Price	Extension	Unit Price	Extension	Unit Price	Extension	Unit Price	Extension
				Part 1 -	Kickbusch Street	from Bellis Str	eet to 13th Stree	et					
1 1001.0100.S	2" Polystyrene Insulation	Sq Ft	960	\$1.50	\$1,440.00	\$1.50	\$1,440.00	\$2.75	\$2,640.00	\$2.00	\$1,920.00	\$3.00	\$2,880.00
2 201.0120.S	Clearing	id	585	\$14.00	\$8,190.00	\$14.25	\$8,336.25	\$16.50	\$9,652.50	\$10.00	\$5,850.00	\$14.70	\$8,599.50
3 201.0220.S	Grubbing	id	585	\$20.00	\$11,700.00	\$9.75	\$5,703.75	\$13.20	\$7,722.00	\$20.00	\$11,700.00	\$28.20	\$16,497.00
4 204.0100	Removing Pavement	Sq Yd	1900	\$4.00	\$7,600.00	\$2.00	\$3,800.00	\$4.51	\$8,569.00	\$4.50	\$8,550.00	\$5.15	\$9,785.00
5 204.0150	Removing Curb & Gutter	Ln Ft	1900	\$1.75	\$3,325.00	\$4.00	\$7,600.00	\$2.56	\$4,864.00	\$2.50	\$4,750.00	\$2.00	\$3,800.00
6 204.0155.S	Removing Concrete Sidewalk	Sq Yd	1490	\$5.00	\$7,450.00	\$4.50	\$6,705.00	\$3.67	\$5,468.30	\$6.50	\$9,685.00	\$3.50	\$5,215.00
7 204.0210.S	Removing Manholes	Ea	13	\$300.00	\$3,900.00	\$350.00	\$4,550.00	\$220.00	\$2,860.00	\$350.00	\$4,550.00	\$500.00	\$6,500.00
8 204.0220	Removing Inlets	Ea	8	\$250.00	\$2,000.00	\$250.00	\$2,000.00	\$110.00	\$880.00	\$250.00	\$2,000.00	\$400.00	\$3,200.00
9 204.0245.S	Removing Storm Sewer	Ln Ft	330	\$25.00	\$8,250.00	\$12.00	\$3,960.00	\$5.50	\$1,815.00	\$12.00	\$3,960.00	\$50.00	\$16,500.00
10 204.0500.S	Removing Sanitary Sewer	Ln Ft	1911	\$2.60	\$4,968.60	\$5.00	\$9,555.00	\$3.30	\$6,306.30	\$2.00	\$3,822.00	\$5.00	\$9,555.00
11 204.0600.S	Removing Watermain	Ln Ft	2116	\$7.00	\$14,812.00	\$5.00	\$10,580.00	\$3.30	\$6,982.80	\$2.00	\$4,232.00	\$18.00	\$38,088.00
12 204.0700.S	Removing Hydrants	Ea	4	\$300.00	\$1,200.00	\$350.00	\$1,400.00	\$330.00	\$1,320.00	\$400.00	\$1,600.00	\$800.00	\$3,200.00
	Abandon Sanitary Sewer, Storm Sewer and												
13 204.0800.S	Watermain	Ln Ft	190	\$20.00	\$3,800.00	\$20.00	\$3,800.00	\$27.50	\$5,225.00	\$20.00	\$3,800.00	\$12.00	\$2,280.00
14 205.0100	Excavation Common	Cu Yd	3189	\$10.00	\$31,890.00	\$9.50	\$30,295.50	\$16.36	\$52,172.04	\$20.00	\$63,780.00	\$17.73	\$56,540.97
15 205.0201.S	Trench Rock (Lineal Foot)	Ln Ft	1250	\$47.00	\$58,750.00	\$40.00	\$50,000.00	\$62.70	\$78,375.00	\$70.00	\$87,500.00	\$147.44	\$184,300.00
16 205.1500.S	Excavation Below Subgrade	Cu Yd	1820	\$10.00	\$18,200.00	\$12.00	\$21,840.00	\$17.60	\$32,032.00	\$6.00	\$10,920.00	\$16.19	\$29,465.80
17 209.0100.S	Granular Backfill	Cu Yd	50	\$15.00	\$750.00	\$12.00	\$600.00	\$16.50	\$825.00	\$20.00	\$1,000.00	\$21.29	\$1,064.50
18 305.0125.S	Base Aggregate Dense 1 1/4"	Cu Yd	2073	\$20.00	\$41,460.00	\$19.75	\$40,941.75	\$30.27	\$62,749.71	\$28.00	\$58,044.00	\$30.48	\$63,185.04
19 311.0200.S	Breaker Run with Fines	Cu Yd	1820	\$20.00	\$36,400.00	\$22.00	\$40,040.00	\$33.00	\$60,060.00	\$18.00	\$32,760.00	\$25.82	\$46,992.40
20 455.0605	Tack Coat	Gal	267	\$3.03	\$809.01	\$3.00	\$801.00	\$3.12	\$833.04	\$3.00	\$801.00	\$3.18	\$849.06
21 460.5224.S	HMA Pavement 4 LT 58-28 S	Ton	160	\$60.75	\$9,720.00	\$77.05	\$12,328.00	\$70.38	\$11,260.80	\$69.00	\$11,040.00	\$71.74	\$11,478.40
22 460.5225.S	HMA Pavement 5 LT 58-28 S	Ton	160	\$62.75	\$10,040.00	\$71.55	\$11,448.00	\$74.33	\$11,892.80	\$73.00	\$11,680.00	\$75.76	\$12,121.60
23 460.6223.S	HMA Pavement 3 MT 58-28 S	Ton	680	\$61.25	\$41,650.00	\$69.00	\$46,920.00	\$63.00	\$42,840.00	\$62.00	\$42,160.00	\$64.22	\$43,669.60
24 460.6224.S	HMA Pavement 4 MT 58-28 S	Ton	530	\$62.50	\$33,125.00	\$65.00	\$34,450.00	\$66.37	\$35,176.10	\$65.00	\$34,450.00	\$67.65	\$35,854.50
25 465.0120	Asphaltic Surface Driveways	Ton	10	\$157.00	\$1,570.00	\$185.00	\$1,850.00	\$191.88	\$1,918.80	\$215.00	\$2,150.00	\$195.57	\$1,955.70
26 520.8000	Concrete Collars for Pipe	Ea	2	\$650.00	\$1,300.00	\$600.00	\$1,200.00	\$220.00	\$440.00	\$700.00	\$1,400.00	\$500.00	\$1,000.00
	Culvert Pipe Reinforced Concrete Class IV 12-												
27 522.0412	inch	Ln Ft	64	\$33.75	\$2,160.00	\$42.00	\$2,688.00	\$39.02	\$2,497.28	\$52.00	\$3,328.00	\$65.43	\$4,187.52
	Apron Endwalls for Culvert Pipe Reinforced												
28 522.1012	Concrete 12"	Ea	2	\$1,075.00	\$2,150.00	\$500.00	\$1,000.00	\$741.00	\$1,482.00	\$934.00	\$1,868.00	\$675.45	\$1,350.90
29 601.0411	Concrete Curb & Gutter 30" Type D	Ln Ft	3705	\$11.25	\$41,681.25	\$11.50	\$42,607.50	\$18.16	\$67,282.80	\$14.00	\$51,870.00	\$17.78	\$65,874.90
30 601.0600	Concrete Curb Pedestrian	Ln Ft	95	\$25.00	\$2,375.00	\$26.00	\$2,470.00	\$23.23	\$2,206.85	\$49.00	\$4,655.00	\$22.91	\$2,176.45
31 602.0405.S	Concrete Sidewalk 4"	Sq Ft	6420	\$3.85	\$24,717.00	\$4.40	\$28,248.00	\$4.44	\$28,504.80	\$5.50	\$35,310.00	\$4.32	\$27,734.40
32 602.0415.S	Concrete Sidewalk 6"	Sq Ft	8500	\$4.50	\$38,250.00	\$5.30	\$45,050.00	\$5.07	\$43,095.00	\$5.75	\$48,875.00	\$5.51	\$46,835.00
	Curb Ramp Detectable Warning Field Natural												
33 602.0515		Sq Ft	164	\$35.00	\$5,740.00	\$35.00	\$5,740.00	\$36.40	\$5,969.60	\$44.00	\$7,216.00	\$36.75	\$6,027.00
1	Storm Sewer Pipe Reinforced Concrete Class IV												
34 608.0412	12"	Ln Ft	924	\$33.75	\$31,185.00	\$34.25	\$31,647.00	\$42.32	\$39,103.68	\$40.00	\$36,960.00	\$96.08	\$88,777.92

		Storm Sewer Pipe Reinforced Concrete Class IV												
35		15"	Ln Ft	351	\$36.75	\$12,899.25	\$37.00	\$12,987.00	\$43.42	\$15,240.42	\$42.00	\$14,742.00	\$84.60	\$29,694.60
		Storm Sewer Pipe Composite 6"	Ln Ft	5	\$41.00	\$205.00	\$50.00	\$250.00	\$35.15	\$175.75	\$84.00	\$420.00	\$172.93	\$864.65
		Reconstructing Manholes (Storm and Sanitary)		1	\$1,650.00	\$1,650.00	\$1,700.00	\$1,700.00	\$700.00	\$700.00	\$1,000.00	\$1,000.00	\$1,142.18	\$1,142.18
		Manhole Covers Type J-Special (Storm &		-	φ=,000.00	+ = / = 0 = 1 = 0	ψ=): σσισσ	+ =). 	47 00.00	φ. σσ.σσ	Ψ=/000.00	Ψ=/σσσ.σσ	Ψ=/= :=:=0	Ψ=)= :=:=0
38		Sanitary)	Ea	15	\$950.00	\$14,250.00	\$585.00	\$8,775.00	\$786.20	\$11,793.00	\$687.00	\$10,305.00	\$1,202.70	\$18,040.50
39	611.0624	Inlet Covers Type H	Ea	17	\$875.00	\$14,875.00	\$700.00	\$11,900.00	\$825.00	\$14,025.00	\$599.00	\$10,183.00	\$867.58	\$14,748.86
40	611.0710.S	Catch Basin Cover Neenah R-4040-24 Type G	Ea	1	\$1,025.00	\$1,025.00	\$650.00	\$650.00	\$685.00	\$685.00	\$435.00	\$435.00	\$735.00	\$735.00
41	611.1000.S	Catch Basins 2-Ft Diameter	Ea	1	\$1,000.00	\$1,000.00	\$950.00	\$950.00	\$941.00	\$941.00	\$1,033.00	\$1,033.00	\$816.58	\$816.58
42	611.1230	Catch Basins 2x3-Ft	Ea	17	\$1,200.00	\$20,400.00	\$1,200.00	\$20,400.00	\$1,253.35	\$21,306.95	\$1,322.00	\$22,474.00	\$1,110.31	\$18,875.27
43	611.2004	Manholes 4-Ft Diameter	Ea	8	\$2,050.00	\$16,400.00	\$1,600.00	\$12,800.00	\$1,425.63	\$11,405.04	\$1,711.00	\$13,688.00	\$1,548.60	\$12,388.80
		6" Draintile	Ln Ft	2900	\$10.25	\$29,725.00	\$10.00	\$29,000.00	\$19.51	\$56,579.00	\$9.00	\$26,100.00	\$18.09	\$52,461.00
45		Pipe Underdrain Unperforated 4-inch	Ln Ft	10	\$5.25	\$52.50	\$10.00	\$100.00	\$18.72	\$187.20	\$17.00	\$170.00	\$14.55	\$145.50
46		Mobilization	LS	1	\$11,752.00	\$11,752.00	\$40,750.00	\$40,750.00	\$18,837.00	\$18,837.00	\$88,340.00	\$88,340.00	\$37,091.63	\$37,091.63
		Water	Mgal	35	\$45.00	\$1,575.00	\$15.00	\$525.00	\$33.00	\$1,155.00	\$25.00	\$875.00	\$40.00	\$1,400.00
		Water For Seeded Areas	Mgal	60	\$35.00	\$2,100.00	\$25.00	\$1,500.00	\$49.50	\$2,970.00	\$35.00	\$2,100.00	\$36.75	\$2,205.00
49		Topsoil, Seed and Fertilizer	Sy Yd	2350	\$5.25	\$12,337.50	\$4.25	\$9,987.50	\$13.20	\$31,020.00	\$8.00	\$18,800.00	\$7.48	\$17,578.00
		Mulching Silt Fence	Sy Yd	2240	\$1.00 \$10.00	\$2,240.00	\$1.25 \$3.50	\$2,800.00	\$1.10 \$3.30	\$2,464.00 \$66.00	\$2.00 \$5.00	\$4,480.00	\$1.05 \$10.50	\$2,352.00
		Silt Fence Maintenance	Ln Ft Ln Ft	20 20	\$10.00	\$200.00 \$2.60	\$3.50	\$70.00 \$10.00	\$3.30	\$3.40	\$5.00	\$100.00 \$1.00	\$10.50	\$210.00 \$2.80
	628.2008	Erosion Mat Urban Class I Type B	Ln Ft	99	\$2.25	\$222.75	\$2.50	\$247.50	\$3.30	\$326.70	\$4.00	\$396.00	\$2.37	\$234.63
		Inlet Protection Type A	Ea	18	\$125.00	\$2,250.00	\$90.00	\$1,620.00	\$60.50	\$1,089.00	\$100.00	\$1,800.00	\$131.25	\$2,362.50
55		Inlet Protection Type C	Ea	27	\$60.00	\$1,620.00	\$55.00	\$1,485.00	\$126.50	\$3,415.50	\$10.00	\$270.00	\$63.00	\$1,701.00
	628.7555	Culvert Pipe Checks	Ea	1	\$25.00	\$25.00	\$50.00	\$50.00	\$55.00	\$55.00	\$100.00	\$100.00	\$26.25	\$26.25
		Tracking Pad	Ea	2	\$850.00	\$1,700.00	\$750.00	\$1,500.00	\$550.00	\$1,100.00	\$500.00	\$1,000.00	\$1,500.00	\$3,000.00
58	643.0100.S	Temporary Traffic Control	LS	1	\$2,250.00	\$2,250.00	\$2,300.00	\$2,300.00	\$2,881.68	\$2,881.68	\$15,000.00	\$15,000.00	\$3,479.10	\$3,479.10
59	645.0200.S	Geogrid Reinforcement	Sq Yd	7330	\$5.65	\$41,414.50	\$4.25	\$31,152.50	\$6.05	\$44,346.50	\$4.90	\$35,917.00	\$5.70	\$41,781.00
60	646.6020	Marking Stop Line Epoxy 12"	Ln Ft	51	\$10.00	\$510.00	\$10.00	\$510.00	\$15.34	\$782.34	\$11.00	\$561.00	\$10.50	\$535.50
61	646.7420	Marking Crosswalk Epoxy Transverse Line 6"	Ln Ft	271	\$9.50	\$2,574.50	\$9.65	\$2,615.15	\$11.96	\$3,241.16	\$10.00	\$2,710.00	\$9.98	\$2,704.58
		Marking Crosswalk Epoxy Ladder Pattern 24-												
		Inch	Ln Ft	105	\$16.50	\$1,732.50	\$16.55	\$1,737.75	\$23.14	\$2,429.70	\$17.00	\$1,785.00	\$17.33	\$1,819.65
		Sawing Asphalt	Ln Ft	110	\$3.00	\$330.00	\$3.00	\$330.00	\$4.09	\$449.90	\$3.00	\$330.00	\$1.84	\$202.40
		Sawing Concrete	Ln Ft	70	\$10.00	\$700.00	\$3.50	\$245.00	\$6.43	\$450.10	\$6.00	\$420.00	\$2.89	\$202.30
		Sanitary Sewer PVC-SDR 35 8"	Ln Ft	1836	\$40.25	\$73,899.00	\$49.00	\$89,964.00	\$44.20	\$81,151.20	\$46.00	\$84,456.00	\$78.30	\$143,758.80
		Sanitary Sewer PVC-SDR 35 10"	Ln Ft	39	\$62.75	\$2,447.25	\$53.00	\$2,067.00	\$59.74	\$2,329.86	\$70.00	\$2,730.00	\$149.51	\$5,830.89
		Sanitary Sewer PVC-SDR 35 12" Sanitary Sewer PVC-SDR 35 15"	Ln Ft Ln Ft	36	\$121.00 \$72.25	\$605.00 \$2,601.00	\$60.00 \$55.00	\$300.00 \$1,980.00	\$108.00 \$96.06	\$540.00 \$3,458.16	\$273.00 \$83.00	\$1,365.00 \$2,988.00	\$358.52 \$162.70	\$1,792.60 \$5,857.20
		Sanitary Sewer Wyes PVC		47	\$155.00	\$7,285.00	\$140.00	\$6,580.00	\$382.00	\$17,954.00	\$187.00	\$8,789.00	\$346.00	\$16,262.00
		Sanitary Sewer Manholes 4' Diameter	Ea Ea	6	\$133.00	\$16,860.00	\$2,500.00	\$15,000.00	\$1,638.67	\$9,832.02	\$2,730.00	\$16,380.00	\$3,717.33	\$22,303.98
		Connect Sanitary Sewer Lateral	Ln Ft	1390	\$34.50	\$47,955.00	\$2,300.00	\$48,650.00	\$23.64	\$32,859.60	\$43.00	\$59,770.00	\$3,717.53	\$99,412.80
		6" DI Watermain	Ln Ft	90	\$60.25	\$5,422.50	\$45.25	\$4,072.50	\$67.29	\$6,056.10	\$49.00	\$4,410.00	\$95.53	\$8,597.70
		8" DI Watermain	Ln Ft	2000	\$51.00	\$102,000.00	\$53.00	\$106,000.00	\$63.13	\$126,260.00	\$54.00	\$108,000.00	\$84.90	\$169,800.00
		10" DI Watermain	Ln Ft	49	\$94.00	\$4,606.00	\$62.00	\$3,038.00	\$89.58	\$4,389.42	\$65.00	\$3,185.00	\$131.01	\$6,419.49
		8"x8"x6" Tee	Ea	5	\$700.00	\$3,500.00	\$500.00	\$2,500.00	\$451.00	\$2,255.00	\$630.00	\$3,150.00	\$464.80	\$2,324.00
76	901.0808.S	8"x8"x8" Tee	Ea	2	\$775.00	\$1,550.00	\$600.00	\$1,200.00	\$513.00	\$1,026.00	\$739.00	\$1,478.00	\$541.80	\$1,083.60
77	901.1006.S	10"x10"x6" Tee	Ea	1	\$925.00	\$925.00	\$700.00	\$700.00	\$563.00	\$563.00	\$909.00	\$909.00	\$716.80	\$716.80
78	901.1010.S	10"x10"x10" Tee	Ea	1	\$1,175.00	\$1,175.00	\$865.00	\$865.00	\$806.00	\$806.00	\$1,198.00	\$1,198.00	\$933.80	\$933.80

	T-11	T_		4 1	4	1	4	4	4	1	4	4	
79 903.0822.S	8" - 22 1/2 Degree Bend	Ea	2	\$625.00	\$1,250.00	\$350.00	\$700.00	\$319.00	\$638.00	\$416.00	\$832.00	\$313.60	\$627.20
80 903.0845.S	8" - 45 Degree Bend	Ea	6	\$675.00	\$4,050.00	\$350.00	\$2,100.00	\$323.00	\$1,938.00	\$422.00	\$2,532.00	\$316.40	\$1,898.40
81 903.1045.S	10" - 45 Degree Bend	Ea	3	\$800.00	\$2,400.00	\$475.00	\$1,425.00	\$441.00	\$1,323.00	\$642.00	\$1,926.00	\$487.20	\$1,461.60
82 904.0806.S	8"x6" Reducer	Ea	4	\$280.00	\$1,120.00	\$325.00	\$1,300.00	\$280.00	\$1,120.00	\$341.00	\$1,364.00	\$261.80	\$1,047.20
83 904.1008.S	10"x8" Reducer	Ea	1	\$350.00	\$350.00	\$400.00	\$400.00	\$342.00	\$342.00	\$467.00	\$467.00	\$355.60	\$355.60
84 905.0006.S	6" Valve & Valve Box	Ea	5	\$1,665.00	\$8,325.00	\$1,200.00	\$6,000.00	\$1,301.00	\$6,505.00	\$1,378.00	\$6,890.00	\$1,341.20	\$6,706.00
85 905.0008.S	8" Valve & Valve Box	Ea	10	\$2,080.00	\$20,800.00	\$1,800.00	\$18,000.00	\$1,715.00	\$17,150.00	\$1,878.00	\$18,780.00	\$1,877.40	\$18,774.00
86 905.0010.S	10" Valve and Valve Box	Ea	2	\$2,725.00	\$5,450.00	\$2,525.00	\$5,050.00	\$2,337.00	\$4,674.00	\$2,686.00	\$5,372.00	\$2,816.80	\$5,633.60
87 906.0100.S	Standard Hydrant	Ea	5	\$3,900.00	\$19,500.00	\$3,675.00	\$18,375.00	\$3,593.00	\$17,965.00	\$3,983.00	\$19,915.00	\$4,325.60	\$21,628.00
88 907.0100.S	Temporary Water Service	LS	1	\$5,000.00	\$5,000.00	\$15,000.00	\$15,000.00	\$14,781.25	\$14,781.25	\$9,000.00	\$9,000.00	\$35,250.00	\$35,250.00
89 908.0100.S	Connect Water Service	Ln Ft	1430	\$42.00	\$60,060.00	\$52.00	\$74,360.00	\$48.30	\$69,069.00	\$59.00	\$84,370.00	\$88.28	\$126,240.40
				Part 1 Total	\$1,109,711.71		\$1,146,168.65		\$1,320,129.15		\$1,339,977.00		\$1,831,058.10
Part 2 - Kickbusch Street from 13th Street to Hawthorn Hills Elementary												_	
90 204.0115	Removing Asphaltic Surface Butt Joints	Sq Yd	39	\$35.31	\$1,377.09	\$10.35	\$403.65	\$7.85	\$306.15	\$10.00	\$390.00	\$10.83	\$422.37
91 204.0120	Removing Asphaltic Surface Milling	SY	3662	\$4.21	\$15,417.02	\$2.25	\$8,239.50	\$2.49	\$9,118.38	\$3.00	\$10,986.00	\$2.33	\$8,532.46
92 205.0100	Excavation Common	Cu Yd	15	\$20.00	\$300.00	\$15.00	\$225.00	\$23.35	\$350.25	\$30.00	\$450.00	\$17.73	\$265.95
93 305.0115.S	Base Aggregate Dense 3/4-inch	Cu Yd	18	\$28.00	\$504.00	\$30.00	\$540.00	\$35.33	\$635.94	\$51.00	\$918.00	\$35.51	\$639.18
94 305.0125.S	Base Aggregate Dense 1 1/4"	Cu Yd	98	\$23.00	\$2,254.00	\$26.00	\$2,548.00	\$31.42	\$3,079.16	\$49.00	\$4,802.00	\$30.48	\$2,987.04
95 455.0605	Tack Coat	Gal	146	\$3.05	\$445.30	\$3.00	\$438.00	\$3.12	\$455.52	\$3.00	\$438.00	\$3.18	\$464.28
96 460.6223.S	HMA Pavement 3 MT 58-28 S	Ton	500	\$61.15	\$30,575.00	\$69.10	\$34,550.00	\$63.02	\$31,510.00	\$62.00	\$31,000.00	\$64.24	\$32,120.00
97 460.6224.S	HMA Pavement 4 MT 58-28 S	Ton	390	\$62.45	\$24,355.50	\$63.85	\$24,901.50	\$66.39	\$25,892.10	\$65.00	\$25,350.00	\$67.68	\$26,395.20
98 465.0315	Asphaltic Flumes	Sq Yd	1	\$152.00	\$152.00	\$75.00	\$75.00	\$72.80	\$72.80	\$170.00	\$170.00	\$74.20	\$74.20
99 606.0100	Riprap Light	Cu Yd	3	\$80.00	\$240.00	\$100.00	\$300.00	\$165.00	\$495.00	\$100.00	\$300.00	\$100.00	\$300.00
	Manhole Covers Type J-Special (Storm &												
100 611.0535.S	Sanitary)	Ea	3	\$875.00	\$2,625.00	\$585.00	\$1,755.00	\$884.00	\$2,652.00	\$800.00	\$2,400.00	\$1,202.70	\$3,608.10
101 619.1000.S	Mobilization	LS	1	\$1,000.00	\$1,000.00	\$3,700.00	\$3,700.00	\$10,239.84	\$10,239.84	\$8,540.00	\$8,540.00	\$5,397.00	\$5,397.00
102 625.0600.S	Topsoil, Seed and Fertilizer	Sy Yd	160	\$6.50	\$1,040.00	\$5.00	\$800.00	\$13.20	\$2,112.00	\$9.00	\$1,440.00	\$8.53	\$1,364.80
103 627.0200.S	Mulching	Sy Yd	160	\$2.00	\$320.00	\$1.50	\$240.00	\$1.10	\$176.00	\$6.00	\$960.00	\$2.10	\$336.00
104 643.0100.S	Temporary Traffic Control	LS	1	\$650.00	\$650.00	\$1,000.00	\$1,000.00	\$1,188.56	\$1,188.56	\$1,500.00	\$1,500.00	\$644.70	\$644.70
105 646.7420	Marking Crosswalk Epoxy Transverse Line 6"	Ln Ft	85	\$9.50	\$807.50	\$9.65	\$820.25	\$11.96	\$1,016.60	\$11.00	\$935.00	\$9.98	\$848.30
	Marking Crosswalk Epoxy Ladder Pattern 24-												
106 646.7520	Inch	Ln Ft	72	\$16.00	\$1,152.00	\$16.50	\$1,188.00	\$23.14	\$1,666.08	\$18.00	\$1,296.00	\$16.80	\$1,209.60
107 690.0150	Sawing Asphalt	Ln Ft	176	\$5.00	\$880.00	\$3.00	\$528.00	\$4.66	\$820.16	\$3.00	\$528.00	\$1.84	\$323.84
				Part 2 Total	\$84,094.41		\$82,251.90		\$91,786.54		\$92,403.00		\$85,933.02
100 1001 0100	Tours I	Io =:	1 400				et to Fulton Stree		400-00	40.00	400000	40.00	4000.00
	2" Polystyrene Insulation	Sq Ft	100	\$2.00	\$200.00	\$1.50	\$150.00	\$2.37	\$237.00	\$2.00	\$200.00	\$3.00	\$300.00
109 201.0120.S	Clearing	id	12	\$20.00	\$240.00	\$16.00	\$192.00	\$16.50	\$198.00	\$10.00	\$120.00	\$14.70	\$176.40
110 201.0220.S	Grubbing	Id C. V.	12	\$20.00	\$240.00	\$11.00	\$132.00	\$13.20	\$158.40	\$20.00	\$240.00	\$42.00	\$504.00
111 204.0100	Removing Pavement	Sq Yd	150	\$5.00	\$750.00	\$2.50	\$375.00	\$7.54	\$1,131.00	\$6.00	\$900.00	\$6.40	\$960.00
112 204.0150	Removing Curb & Gutter	Ln Ft	50	\$5.00	\$250.00	\$4.50	\$225.00	\$3.30	\$165.00	\$8.00	\$400.00	\$10.00	\$500.00
113 204.0155.S	Removing Concrete Sidewalk	Sq Yd	100	\$5.00	\$500.00	\$4.50	\$450.00	\$3.30	\$330.00	\$0.01	\$1.00	\$3.50	\$350.00
114 204.0245.S	Removing Storm Sewer	Ln Ft	30	\$15.00	\$450.00	\$10.00	\$300.00	\$5.50	\$165.00	\$30.00	\$900.00	\$21.15	\$634.50
115 204.0500.S	Removing Sanitary Sewer	Ln Ft	303	\$6.60	\$1,999.80	\$5.00	\$1,515.00	\$3.30	\$999.90	\$5.00	\$1,515.00	\$5.00	\$1,515.00
116 204.0600.S	Removing Watermain	Ln Ft	24	\$15.00	\$360.00	\$5.00	\$120.00	\$5.50	\$132.00	\$30.00	\$720.00	\$10.00	\$240.00
117 204.0700.S	Removing Hydrants	Ea	1	\$600.00	\$600.00	\$350.00	\$350.00	\$330.00	\$330.00	\$400.00	\$400.00	\$800.00	\$800.00

	Abandon Sanitary Sewer, Storm Sewer and												
118 204.0800.S	Watermain	Ln Ft	342	\$25.00	\$8,550.00	\$20.00	\$6,840.00	\$13.20	\$4,514.40	\$20.00	\$6,840.00	\$12.00	\$4,104.00
119 205.0100	Excavation Common	Cu Yd	274	\$12.00	\$3,288.00	\$12.00	\$3,288.00	\$14.58	\$3,994.92	\$22.00	\$6,028.00	\$28.60	\$7,836.40
120 305.0125.S	Base Aggregate Dense 1 1/4"	Cu Yd	185	\$28.00	\$5,180.00	\$21.00	\$3,885.00	\$32.42	\$5,997.70	\$40.00	\$7,400.00	\$36.69	\$6,787.65
121 415.1090	Concrete Pavement HES 9-Inch	Sq Yd	55	\$80.00	\$4,400.00	\$82.00	\$4,510.00	\$102.37	\$5,630.35	\$115.00	\$6,325.00	\$103.36	\$5,684.80
122 416.0610	Drilled Tie Bars	Ea	6	\$12.00	\$72.00	\$12.00	\$72.00	\$7.74	\$46.44	\$28.00	\$168.00	\$7.82	\$46.92
123 416.0620	Drilled Dowel Bars	Ea	14	\$15.00	\$210.00	\$15.00	\$210.00	\$12.68	\$177.52	\$39.00	\$546.00	\$12.80	\$179.20
124 455.0605	Tack Coat	Gal	17	\$3.03	\$51.51	\$3.00	\$51.00	\$3.12	\$53.04	\$3.00	\$51.00	\$3.18	\$54.06
125 460.6223.S	HMA Pavement 3 MT 58-28 S	Ton	60	\$80.80	\$4,848.00	\$102.00	\$6,120.00	\$77.84	\$4,670.40	\$77.00	\$4,620.00	\$78.60	\$4,716.00
126 460.6224.S	HMA Pavement 4 MT 58-28 S	Ton	50	\$80.80	\$4,040.00	\$79.50	\$3,975.00	\$82.62	\$4,131.00	\$82.00	\$4,100.00	\$83.42	\$4,171.00
127 601.0411	Concrete Curb & Gutter 30" Type D	Ln Ft	30	\$35.00	\$1,050.00	\$36.00	\$1,080.00	\$68.77	\$2,063.10	\$60.00	\$1,800.00	\$68.88	\$2,066.40
128 602.0405.S	Concrete Sidewalk 4"	Sq Ft	100	\$7.00	\$700.00	\$8.50	\$850.00	\$37.97	\$3,797.00	\$12.00	\$1,200.00	\$38.17	\$3,817.00
	Storm Sewer Pipe Reinforced Concrete Class IV												
129 608.0412	12"	Ln Ft	26	\$52.00	\$1,352.00	\$45.00	\$1,170.00	\$42.32	\$1,100.32	\$76.00	\$1,976.00	\$84.59	\$2,199.34
130 619.1000.S	Mobilization	LS	1	\$2,500.00	\$2,500.00	\$3,500.00	\$3,500.00	\$4,265.04	\$4,265.04	\$13,545.00	\$13,545.00	\$7,860.80	\$7,860.80
131 625.0600.S	Topsoil, Seed and Fertilizer	Sy Yd	30	\$15.00	\$450.00	\$5.00	\$150.00	\$13.20	\$396.00	\$15.00	\$450.00	\$50.50	\$1,515.00
132 627.0200.S	Mulching	Sy Yd	30	\$10.00	\$300.00	\$1.50	\$45.00	\$1.10	\$33.00	\$15.00	\$450.00	\$10.50	\$315.00
133 628.7015	Inlet Protection Type C	Ea	13	\$60.00	\$780.00	\$55.00	\$715.00	\$126.50	\$1,644.50	\$1.00	\$13.00	\$63.00	\$819.00
134 628.7560	Tracking Pad	Ea	2	\$500.00	\$1,000.00	\$750.00	\$1,500.00	\$550.00	\$1,100.00	\$1.00	\$2.00	\$1,500.00	\$3,000.00
135 643.0100.S	Temporary Traffic Control	LS	1	\$2,250.00	\$2,250.00	\$2,200.00	\$2,200.00	\$2,747.52	\$2,747.52	\$2,400.00	\$2,400.00	\$2,218.65	\$2,218.65
136 690.0150	Sawing Asphalt	Ln Ft	100	\$3.00	\$300.00	\$3.00	\$300.00	\$4.32	\$432.00	\$3.00	\$300.00	\$1.84	\$184.00
137 690.0250	Sawing Concrete	Ln Ft	172	\$5.00	\$860.00	\$3.50	\$602.00	\$4.31	\$741.32	\$6.00	\$1,032.00	\$2.89	\$497.08
138 800.0115.S	Sanitary Sewer PVC-SDR 35 15"	Ln Ft	303	\$42.50	\$12,877.50	\$45.00	\$13,635.00	\$55.62	\$16,852.86	\$68.00	\$20,604.00	\$102.96	\$31,196.88
139 800.0200.S	Sanitary Sewer Wyes PVC	Ea	1	\$175.00	\$175.00	\$425.00	\$425.00	\$602.00	\$602.00	\$486.00	\$486.00	\$346.00	\$346.00
140 802.0100.S	Connect Sanitary Sewer Lateral	Ln Ft	6	\$175.00	\$1,050.00	\$100.00	\$600.00	\$127.67	\$766.02	\$200.00	\$1,200.00	\$73.47	\$440.82
141 900.0106.S		Ln Ft	78	\$51.50	\$4,017.00	\$68.00	\$5,304.00	\$60.87	\$4,747.86	\$135.00	\$10,530.00	\$119.53	\$9,323.34
142 900.0601.S	6" C-900 Watermain	Ln Ft	52	\$50.25	\$2,613.00	\$62.00	\$3,224.00	\$59.67	\$3,102.84	\$126.00	\$6,552.00	\$109.96	\$5,717.92
143 900.1006.S	6" MJ Cap	Ea	2	\$750.00	\$1,500.00	\$150.00	\$300.00	\$153.00	\$306.00	\$402.00	\$804.00	\$114.80	\$229.60
144 900.1008.S	,	Ea	4	\$800.00	\$3,200.00	\$225.00	\$900.00	\$195.00	\$780.00	\$357.00	\$1,428.00	\$177.80	\$711.20
145 900.1012.S	12" MJ Cap	Ea	4	\$925.00	\$3,700.00	\$375.00	\$1,500.00	\$322.00	\$1,288.00	\$492.00	\$1,968.00	\$341.60	\$1,366.40
146 901.0606.S		Ea	1	\$1,925.00	\$1,925.00	\$1,000.00	\$1,000.00	\$372.00	\$372.00	\$2,243.00	\$2,243.00	\$841.40	\$841.40
147 903.0645.S	-	Ea	5	\$505.00	\$2,525.00	\$325.00	\$1,625.00	\$253.40	\$1,267.00	\$383.00	\$1,915.00	\$527.24	\$2,636.20
148 905.0006.S	6" Valve & Valve Box	Ea	1	\$1,625.00	\$1,625.00	\$1,275.00	\$1,275.00	\$1,309.00	\$1,309.00	\$1,678.00	\$1,678.00	\$1,341.20	\$1,341.20
											\$118,203.16		
Supplemental Bid Items												4467.000.55	
149 205.0211.S		Ln Ft	1063	\$52.00	\$55,276.00	\$50.00	\$53,150.00	\$84.70	\$90,036.10	\$120.00	\$127,560.00	\$157.94	\$167,890.22
150 205.0221.S	Trench Rock > LF	Ln Ft	1438	\$52.00	\$74,776.00	\$35.00	\$50,330.00	\$62.70	\$90,162.60	\$70.00	\$100,660.00	\$147.44	\$212,018.72
		\$1,276,784.93		\$1,303,080.55		\$1,494,691.14		\$1,546,430.00		\$2,035,194.28			